Population – Changing population structures
Too many under 15s?

In Africa and much of southern Asia the proportion of under 15s is likely to be over 40% and in Latin America over 30% (in the MELDs it is often under 20%).  This means that:

· At present, the large youthful population will need child health care and education – two services that these countries can ill-afford
· In the future, there will be more people reaching child-bearing age

There are numerous reasons for a high birth rate.  For example:

· Many children are needed to help work the land, to carry wood and water, and to care for parents when they are old

· A high infant mortality rate means that many children die before their first birthday

· Religious beliefs may forbid birth control

· A lack of education, especially for women, has an effect on family planning

· There is a lack of access to and insufficient money for the supply of contraceptives

· A large family can enhance a family’s reputation in the local community, especially for the husband

It is now recognised that the three key factors leading to a decline in birth rate and fertility are improvements in the following areas:

Family planning
· Increasing the knowledge of contraception methods and access to family planning services

· Reducing the cost and increasing the supply of contraception  commodities

· Overcoming the disapproval of husbands and the opposition of certain religious groups

Health care

This includes safer abortions and a reduction in infant mortality (the latter means fewer children need to be born as more of them will survive)
Women’s education and status
This delays marriage and gives women the right to decide between having more children or using birth control

Too few under 15s?

In contrast, several of the most economically developed countries are approaching stage 5 in the demographic transition model.  Here the problem is becoming ‘too few’ rather that ‘too many’ children.  This is because in countries like Germany, Italy and Spain (together with China and its one-child policy) birth rates are at, or below, death rates.  This means that the replacement rate, which is when there are just sufficient children born to balance the number of people that die, is not being met.  Countries where the replacement rate is not met face a decrease in their total population, e.g. Italy from 56 million in 2000 to a predicted 41 million by 2050.  The fear is that, in time, they will:
· Have too few consumers and skilled workers to keep their economy going

· See a reduction in their competitive advantage in science and technology

· Have closures of schools and shops, especially in smaller towns and villages

· Experience problems in providing pensions and social care for an ageing population

People aged over 65 – an ageing population

There has been, initially in the more economically developed countries but also more recently in some of the less economically developed countries, an increase in life expectancy.  Life expectancy is the number of years that a person born in a particular country might be expected to live.  It has increased due to:

· Improved standards of hygiene and health education

· Improvements in health care

· The development of new drugs and vaccines

· A better diet, both in quantity and quality

· Advances in medical knowledge and techniques by which some diseases and conditions formerly considered untreatable are now routine

The increase in life expectancy, together with a falling birth rate, means that an increasingly higher proportion of a country’s population live beyond 65, and even beyond 80.  This process is referred to as ageing.  By 2000, several of the most economically developed countries (mainly Japan and several countries in western Europe) had over 16% of their population aged over 65.  They had, for the first time in history, more people aged over 65 than children aged under 15.  
The proportion of over 65s is predicted to rise to over 20% by 2020 and, in some countries such as Japan and Italy, to reach 35% by 2050.  The consequences are likely to be a greater demand for services such as pensions, medical care and residential homes which will have to be paid for by a smaller proportion of people of working age.

Questions:

1. Why are birth rates generally high in LEDCS?  Give 4 reasons.

2. What problems will some MEDCs such as Spain face if their population replacement rate continues to decline?

3. Give four reasons to explain why life expectancies are increasing in most MEDCs.
4. Comment on the possible problems faced by countries whose populations are ageing.

